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Algebra: Circumference

Find the circumference of a circle with a radius of 14 ft.

Step 1: Choose a formula. Step 2: Choose an

Since you know the radius, use approximation for .

the formula that has r. 2o | i
= is easiest to use when the

C=27ur radius is divisible by 7.
14 is divisible by 7.

Use % for .

Step 3: Use the formula.
C=2x%2x14
8 _ g8

The circumference is about
88 ft.

Find the circumference of a circle given a diameter of 16.

Step 1: Choose a formula. Step 2: Choose an

Since you know the diameter, approximation for .

use the formula that has 4. Since 16 is not divisible by

C=mnd 7, use 3.14.

Step 3: Use the formula.

C=314 X 16
C =50.24

Find the circumference or missing measure for each circle.

approximations for 7.

4. C=30yd 5. C=56cm
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Use 3.14 or % as

6. C=6.35km

Use with text pages 528-531.
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Algebra: Circumference

Solve.

Show Your Work
1. The playing surface of a drum has a

diameter of 12 inches. The diameter of

the bottom of the drum is 7 as large as

the diameter of the playing surface. Find
the circumference of the top and of the

bottom.

2. An on-line music store offers a set of
three drums. The smallest drum has a
diameter of 4 inches. The radius of the
largest is twice as big as the diameter of
the 1smallest. The third drum has a diame-
ter 7 as big as the diameter of the largest.
What is the circumference of each drum?

3. Eliza wrote that the radius of a drum
with a circumference of 50 inches is
about 16 inches. Do you agree? Why or
why not?

4. The marching band’s drums are 2 feet
in diameter. About how many complete
revolutions will one make if it rolls 60
yards?

5. Yuen Shun is performing with a set of
traditional Chinese Tong Zi drums. His
5 drums have circumferences of 8 inches,
11 inches, 13 inches, 14 inches, and
18 inches. He needs to let the school
know how large a table he will need to
place his drums on. He wants to leave at
least 4 inches between drums. How would
you solve this problem?
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